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(@)
-back +back
-round +round -round +round
+high —low -peripheral I Y - 3
+peripheral i y - u
-high —low -peripheral € e - )
+peripheral e 1% - 0
-high +low -peripheral - - a -
+peripheral x - a -
2)
Input * MARK | IO-CORR(consonant) DISTINCT | IO-CORR([+back])
I0-CORR([xround]) I0-CORR([+low])
/art’t/ I0-CORR([+high])
I0-CORR([+per])
I0-CORR([-back])
1I0-CORR([-low])
/art’t/ *
= /ert’t/ o

(3) Phonologically & morphologically
a less marked

/fogal/singurLar ,,bird"

/NAMAN/pAST-INDICATIVE »t00K™
/ngQl/BASE ,,bird“
/bagrab/pask ,,bury*

/kunst/BASE ,,art“

Phonologically & morphologically
more marked

/ fragel/ PLURAL ,,bil’dS“
/Mmaeman/pasTt-sUBJUNCTIVE ,,would have taken"

/fagal-¢an/afF ,,bird+DIM*

/bagraeb-nis/apr ,,bury+NOM*

/kynst-1orR/ o ,,artist®

b.  /di/3siNGULAR »SaYS‘

/dOR/SINGULAR INDICATIVE ,Sleep®
/lu/MAsc ,,WOlf (male)“

/du/pask ,,gentle*

/diZ/3-Plural ”Say“

/luV/FEM ,wolf (female)*
/dus-mo/apr ,,gently*

/doRM/SINGULAR-SUBJUNCTIVE »,,Would read*

(4) Input | LEFT CONTIGUITY-IO | IO-correspondence | DISTINCT | RIGHT
/diz/ | ANCHOR-1O (vowel, r) ANCHOR-IO
/diz/ *)
e/di/ *




Verbsyncretism
185 cases of stem allomorphy.
(®)] BASE/PRES Participle PAST

A B B /gis/, /gas/, /gas/ "‘pour’

A A B Nlez/, llez/, laz/ 'read’

A B C /verb/, /vorb/, /varb/ 'woo'
* A B A -

/vink/gasg, /vonk/part, /vink/past 'wave' single counter-example, but not really
winken BASE, gewunken PARTS, Wlnkt_e PAST

(6) a. Evaluation of lexical entries with allomorphy

{/feR/BASE, /fOR/PART /faR/PAST} I0-CORR 10-BASE *PAST = BASE *PAST = PART

/[er/pasE, /JurR/parT, /JaR/pasT | *!

/JOR/BASE/PART, /JR/PAST *|

/[€R/BASE/PAST, /JOR/PART %1

/JeR/BASE, /JOR/PART/PAST i

r /[€R/BASE, /JOR/pART, /JAR/pAST

b

{/feR/BASE’ /fOR/PART /faR/PAST} *PAST = BASE Uniform Exponence *PAST =PART

/feR/BASE, /fOR/pART, /feR/pAST *|

kk
= /f €R/BASE, /f OR/PART/PAST

/[er/BasE, /JOR/paRT, /[QR/pAST o]

Containment Hypothesis (Bobaljik 2012)
The representation of the finite past tense properly contains that of the past participle.

[[[-]PAST]PAST FINITE]
i. [ ] present (default, no defining features) (least marked)
ii. [PAST] (past participle)
iii [PAST, FINITE] finite past tense (most marked)

Elsewhere logic:

The *ABA pattern is unstatable: it is impossible to single out the middle member of the
hierarchy to the exclusion to one of the other columns. To the extent that a particular ablaut
form does in fact only surface in the participle, this situation can only arise when the use of
this form in the preterite is bled by a more highly specified form for that context.

Alternative: Ranking of DISTINCT constraints with markedness and faithfulness constraints.







